CHILDREN 3- ONLINE LESSON 27

-116
-360
-1000
How much is that scarf? | It's two pounds fifty.
How much are those They're fifteen pounds.
gloves?
HOW MUCH IS = 1 THING
HOW MUCH ARE= + 1 THING
2- NOW COMPLETE THE QUESTIONS AND ANSWERS:
a. How much that wallet? -It's twenty eight pounds!
b. How much those sandals? -They're twelve pounds fifty!
& How much are glasses? - one hundred and sixteen pounds.
d. How much s umbrella? - eighteen pounds fifty.

e. How much that scarf? - two pounds fifty!




3- LISTEN AND MATCH!

a cheap hat tight trousers a light blue jumper
an expensive hat  baggy trousers a dark blue jumper

4- LISTEN, READ AND SING!

g That jacket's too short

And the colour's too light.

w That hat’s too expensive
And the size isn't right.
Chorus:

I only like wearing...
Baggy trousers, baggy trousers,
Baggy trousers, baggy trousers.

Baggy trousers are cheap,

Baggy trousers are cool.
Bdggy trousers rule!

That jumper's too tight.
Those shorts are too long.
The shoes are too dark
And the size isn't right.

Chorus

It's too expensive.

They're too long.

---> It's too shorf! ---> They're too big!



5- MATCH!

-TOO SHORT
-TOO EXPENSIVE
-TOO TIGHT
-TOO LONG




